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Read the passage and answer the questions that follow:

Origin myths —History of Tealn one popular Chinese
legend, Shennong, the legendary Emperor of China and
inventor of agriculture and Chinese medicine was drinking
a bowl of just boiled water due to a decree that his
subjects must boil water before drinking it. Some time
around 2737 BC, a few leaves were blown, from a nearby
tree, into his water, changing the color and taste. The
emperor took a sip of the brew and was pleasantly
surprised by its flavor and restorative properties. A variant
of the legend tells that the emperor tested the medical
properties of various herbs on himself, some of them
poisonous, and found tea to work as an antidote.
Shennong is also mentioned in Lu Yu's famous early work
on the subject, The Classic of Tea. A similar Chinese
legend goes that the god of agriculture would chew the
leaves, stems, and roots of various plants to discover
medicinal herbs. If he consumed a poisonous plant, he
would chew tea leaves to counteract the poison.A rather
gruesome legend dates back to the Tang Dynasty. In the
legend, Bodhidharma, the founder of Chan Buddhism,
accidentally fell asleep after meditating in front of a wall
for nine years. He woke up in such disgust at his
weakness that he cut off his own eyelids. They fell to the
ground and took root, growing into tea bushes.
Sometimes, another version of the story is told with
Gautama Buddha in place of Bodhidharma.Scholars
however believe that tea drinking likely originated in the
southwest of China, and that the Chinese words for tea
themselves may have been originally derived from the
Austro-Asiatic languages of the people who originally
inhabited that area.\Whether or not these legends have
any basis in fact, tea has played a significant role in Asian
culture for centuries as a staple beverage, a curative, and
a status symbol. It is not surprising, therefore, that
theories of its origin are often religious or royal in nature.

1) Tea is NOT considered to be a/an

A) status symbol
B) curative

C) antidote

D) appetizer

Techofworld.In

2) Tea has played a significant role as a beverage, status
symbol and curative for centuries in the

A
B

C
D

Austro Asiatic culture

Asian culture

Chinese culture

Southwestern Chinese culture

— e e

3) Tea drinking is likely to have originated from

A) Southwest China

B) Austro Asiatic Region
C) Chan Buddhism

D) Tang Dynasty

4) According to Tang dynasty legend, the tea bush grew
from Bodhidharma's

A
B
C
D

eyebrows
eyelashes
eyelid
nails

—_— e e

5) According to Chinese Legend, the emperor

A) drank the tea leaf juice

B) consumed the antidote tealeaf capsules

C) chewed the leaves, stems and roots of the tea plant
D) drank the boiling water containing tea leaves

6) Find the most appropriate opposite meaning word:
QUIESCENT

Page1of23
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7) What is the plural form of Sister-in-law?

A) Sister's-in-law
B) Sisters-in-law
C) Sister-in-laws
D) Sisteres-in-law

8) Select the correct option.
| love living in this city.

A) an

B) no article
C)a

D) the

9) Select the correct form of verb from the given options.

Sorry, she can't come to the phone. She

a
bath!

A) takes

B) had been taking
C) took

D) is taking

10) Find the most appropriate opposite meaning word:
CULPABLE

A) Immune

B) Impeachable
C) Liable

D) Responsible

WtsApp/Call- 8596976190



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

Section 2 - Raperl-Education and General Awareness
Techofworld.In

11) Which of the following statements is CORRECT with
reference to National Council of Educational Research
and Training (NCERT)?

A) It is a private organisation, established in 1961
B) It is a private organisation, established in 1980
C) It is an autonomous organization, established in 1980
D) It is an autonomous organization, established in 1961

11) SIQ 626 MIATIN FIGRA AT IFERAR AT 218 655"
Qe A0R 2657

A) Q6aim <°dll, 1961 6a ZLRIHS
B) asaiq a-ql, 1980 6@ aeaIdie
C) qoraide g, 1980 64 208
D) gurai@e @egl, 1961 69 2eeide

12) Which of the following committees recommended for
the appointment of AICTE ie. All India Council for
Technical Education?

A) Janardan Reddy Committee

B) Secondary Education Commission
C) Pires Committee

D) The Sargent Report

12) Fang 699 AA6 WIedda (QI2R - 2 addl QReda
TR 651N IgEadn) FYa IR IUIRY 25g6m?

A) erlae 6081 @55

B) saseaial ugeaas afiae
C) d4d oA

D) Qigg Q6ale

TAAL\A'F\AII\IFIA IV‘\

13) Which of the following options is CORRECT with
respect to the qualifications prescribed to become the
Vice President of India?

A) He/she must be the Speaker of the Lok Sabha

B) He/she must be qualified for election as a member of
the Legislative Council

C) He/she must be qualified for election as a member of
the Council of States

D) He/she must be the Chairman of the Rajya Sabha

13) Q1000 A AIFAT 629 AIR AT QI CAHG! AAGER
70 GReqee AuQ 6@eG 07

A) 6Q 6RIRARIQ 2T 629 IR 6LAISY (ST(™G (NN

Cc

)

B) 6a GI00figeq 98 6291 IR 6QIGY 6219269
) 64 QIFYARIA AV BIER FAITS 62Q1 AIR 6AISY 6LARER
)

D) 6 aipyawmia 21 SN

14) The National Policy on Education, 1986 and
Programme of Action, 1992 emphasized the adoption of
regional languages as the medium of instruction at which
of the following stages of education?

A) University

B) High school
C) Primary

D) Upper primary

14) @ QUAFIR IRT 2R e, 1986 G 6IgIF ST 21FR,
1992 GQAQ 606 OdIS IN FELFIRFIGERR ARIA QIES
YEER QIRIGEY Jed @famI?

A) goedd
B) @o dauiee
C) geifie

D) @@ giafie
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15) Which of the following diseases is generally spread by
mosquitoes?

A) Typhus
B) Chicken pox
C) Yellow fever
D) Tetanus

15) 4g&QR FRIQ 699 6QI5 ARIQGSS AN TR QUITelN?

>

SIRTQ

O

)

B) elegd
) @R%2 g9
) G

D
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Section 3 - Paperl-Reasoning

16) Komal and Vimal invested Rs. 2000 and Rs. 3600
respectively in a business. If the annual profit is Rs.
84000, then what is Vimal's share in profit?

A
B
C
D

Rs. 40000
Rs. 54000
Rs. 36000
Rs. 48000

—_— — —

16) @ QUeUIA6R 6QIAM U9° Sm FAZIgAIEe 2000 48°
3600 o= F6ad @dgen | 98 Qe @ 84000 oI 9,
CI626R NINER AN 2°FRIP 66 ?

A
B
c
D

Rs. 40000
Rs. 54000
Rs. 36000
Rs. 48000

—_— — —

17) In a certain code language, HORSES is written as
GPQTDT. How is GOOGLE written in that code
language?

A) HPPHMF
B) FPNHKF
C) HNPFMD
D) FNNFKD

17) 9@ 5G9 A6SFe AVE!, HORSES § GPQTDT 6a1R
ERGININE | 69T Aaon ATIER GOOGLE q #af 6ngea?

A) HPPHMF
B) FPNHKF
C) HNPFMD
D) FNNFKD

Techofworld.In

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

Some relays are fuses.

All the breakers are fuses.

All the isolators are relays.

Conclusions:

1) No isolator is fuse.

1) All the relays are isolators.
II) All the fuses are breakers.

A) Both conclusions | and Ill follow
B) Only conclusion | follows

C) Only conclusion Il follows

D) None of the conclusions follow

18) FERAIART: 367 TR A1 98 78 Fad FUIRE |
2T QAULIRER F189Y7 ALY QIR AIFRIG U6 996 G 1al
ARIGEES FENEIR B240IQ §in 6edIIRAN | AT2 Fady Jeg
49" QI06Q F9R 7y, FuINIRYQ fad AUQ 6995 ARIKEER
Q912131 92lIR ALFIRG ARSI A3y 0] Q16 2QIRE K& |

A8QY: @7 G6m 6298 IR | 4G 699 R 6298 Tue |1 A
2IRCACRER TR 6205 A6 |

aed:
1) 6416d 2URCACRSR IF 53 |

1) Qg Q6m Que 6298 JMeALHea | ) 95 TiIe J&@
62088 6999 |

A) qu fad 1 9e° 1l agaed aog |
B) eaeq fed | 299048 @03 |

C) saeq dad Il 29908 K93 |

D) 6al6d Gad 2ga0d @og |
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19) Instruction:
In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4. if the question can't be answered at all.
What is the present age of Alex?
Statement | : Alex is the youngest son of Brian.

Statement Il : Alex's only sister Dolly is three years
younger to him.

A) 1
B) 4
Eyg
D) 2

19) FeR9IeR! FORge ggea
1596 @Qg U8 62 €204 | AIFIKNYE0 JEQ QR0 F2IKNIRUIQE
[

2 599 @9g, 98 69R 71294 || ALEAITER 94Q aa TR
Qg8 |

3, 99 QR | 9e° || IL6LITER Y49 A8 TEIKIR AR |
4, 98 g4Q 2aQ 6964 @ FRIKIR 9169 RIT |

QAR 2IEAFR IO 660 ?

aRQY | : 2IERG 6208 697Fa 90 AIF 92 |

A8QY || : 2IRFR 69159 AWE BR T4@ FI0Ig 3 9d AIF |
A) 1

B) 4

o3 1
D) 2

20) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:
All the arteries are organs.
Some bones are arteries

Conclusions:
1) All the arteries are bones.
Il) Some bones are organs.

A) Only | follows

B) Both | and Il follow
C) None follow

D) Only Il follows

20) G611 967 TAUQAIRAYRI F8Y agq 8 Fad FAUAGE |
208 TAYIRIS TR AR QIR AIFAIQ UGS 9T6 & 1@
QARIREER SR 2I0IR 6 62YITIREIN | 993 fady AL
5° 0/96R 796 G2g, YUIKIRYRI Fad U 689! ARIGEER
R4IQ AR LR 2RI F12A4Y OF QIES AGAE Q& |
7894 A9 AR GE@ J1Q &°0 | 58 216 6298 UART |

oad:
) 4g uAQ1 geR 2% |

1) 38 219 6298 Q106 &°6 |

A) 6297 | QU8 Q@0g
B

Cc

Q0@ | 49° || 2gA08 Q9%

)
)
) 6163 Qg AIE
)

D) 6aa@ Il 29904 @9g
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Section 4 - Paperl-Teaching Aptitude
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21) Which of the following teaching models can be termed
as 'Formal Authority'?

A) The one where the teacher emphasizes student-
centered learning and there is much more
responsibility placed on the students

B) The one where the teacher is in a position of power

and leadership possessing more knowledge than
students

C) The one where the teacher operates under personal

model style with an emphasis on demonstration and
modelling

D) The one where the teacher tends to place much
control and responsibility for learning on individuals or
groups of students

21) GIAGEe AUQ 694 J84 600 @ 'GAela YRGS’ I
AIRA6R?

A) 6Q0I6Q 60R0I6R G9R I8 6R50 IYR QTR 6FIR
620212 3 640I6Q 819 AIRE QU6Q 2@ 0k Q@2

B) 60160 6409069 d9Q 818 AIRTA §RFIEA BRI} RIS
QYR 63 B 629Q @ AF 62 &G

C) 620162 692069 S8R gade 6 FIEERT QU6A 681Q 694!
QTG QPG F168M 631 21RCE @IF @RI

D) 6a0i6a 609068 G8@ QRS @7 818 AINEa AR
Q962 §¢9 AR 999 F9ad 6 QPR 6992B 1

22) Which one of the following teaching tactics is adopted
in Signal learning structure?

A) Helping in discriminating one category from another
B) Presenting chain before the students

C) Practise correct responses to the mastery level

D) Help the learner to generalize and build rule

22) doqim 96 QIrOIER FIRYE AUQ 629 RIRIR AUIATY
J26 FQUAIR2IN ?

A) 6913°0 684101Q 264G 6RRRIAER AIRIYY KAA
B) gige Af@6a g5re QULIDS /5%

C) Gg@el 2060 0@ a0s 9oR9Igeq 2RI QAS

D) dmiciiq anauge 8 G99 F0RER ALY KA

23) When young children are made to play with mud, it
gives an exercise to their

A) visual senses

B) kinesthetic senses
C) auditory senses
D) olfactory senses

23) 6K606RER 9% JRMIFIKE G 6HRE, @l ImQ =0}
gaIa @M @6 ?

A) gay aged

B) gisaidie aged
C) goe aged

D) gigl 2g9e

24) In order to improve the quality of school education in
India, NPSSE is initiated by the Government of India.
What does NPSSE stand for?

A) National Programme on School Standards and
Evaluation

B) National Programme on Secondary Schools and
Evaluation

C) National Programme on School Standards and
Examination

D) National Provision for School Standards and
Evaluation

24) QAR 4R JFIQ (e 9F GrE8 LIRe AeRIRE TGl
REMQNAR ( NPSSE ) 2192 Qeidipg@ll «¥qaaada
(NPSSE ) @@6m @'él QE1?

A) IRSIRN 6T1FIF 2R YN VLG S ARIPIILAR

B) qIaqin 6gigiF 217 62609101 IRD 24 RIPIIAR
C) SHIa9Im 691916 2] M VIIGD 219 IgReadR

D) quiaQIf 69I8RS 06 YA VIVC 2I€ QRIPINAR]
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25) The Central Institute of Educational Technology is an
institution under which of the following organisations?

A) ISCE
B) AICTE
C) NCERT
D) UGC

25) 698IR AFAYE 2T 6CEERT AL A°F0R FUQ K|
2RIIF6Q 231 IR 2gAIR?

A) Ziada (ISCE)

B) w2i1e@da (AICTE)
C) vq@a@es (NCERT)
D) g@Q (UGC)

26) In context of Classroom rules, read the following
statements and choose the CORRECT option.

(i) When deciding on classroom rules, make sure that they
are easily understood, specific and behavioural.

(i) Do not include common classroom procedures in the
official set of classroom rules.

A) (i) is FALSE and (ii) is FALSE
B) (i) is TRUE and (ii) is TRUE
C) (i) is FALSE and (ii) is TRUE
D) (i) is TRUE and (ii) is FALSE

26) 6841192 GO ARER, 57 RBYEY 998 Y9 A0R IRET
QIag |

(i) 698192 FoF F8INE QAR ATAER IFES @ag 6< 6AER
QA2G6Q 98 62999, Fet 62IRYS Ie° 2I9RY ANTS 621RAS |

(i) ARSI 6g81Ige TN gee Aea ARIRE 684192
ARCYET 23S AIF |

A) (i) 6298 gm €9° (i) 6298 gm
B) (i) 62a@ O 4@ (i) 6908 09
C) (i) 6208 om 9e° (i) 6298 O

)

D) (i) s2e@ O 99° (i) 629E on

Tﬁﬁl’\ﬁ‘F\AlﬁPlA Ih

27) Which of the following ensures that no teacher is
scheduled for too many back-to-back classes or for two
classes at the same time?

A) School diary
B) Time table
C) Curriculum
D) Syllabus

27) QR 6906 92l QFA0 @6a 6a 6Q19d JARg RAIGR
65411 6391 QI IR ANAER IRF 64411 66917 AFR AIT |

A) NIRA 2N
B) ana Gde

C) aiouga

D) daieq

28) Which of the following options is considered as a

strategy for the situation of resistance in the teaching
learning process?

Situation - Fear of losing control of the class.

A) Explain how using cooperative groups can help
teacher manage the class

B) Seek an explanation for the fear from the teacher in
presence of entire class

C) Let the teacher not take the class until the fear
subsides

D) Give unpaid leave to the teacher to overcome the fear

28) &¢ Go8 AUQ 6998 AIRG dYQl 9T U@
QAR 2egIa 6Rl9R QIR F6ReR FAUAN? ARFE -
69910 HORE QIR AL |

A) 6g61Q AARIACR ARG OF FUb SRR ALY F6A BIRI
Qdql 9asl

B) agd 696110 20@t6q Juag 90a 2919ad AsIdal
C) saadie 0g a9 6219012 d8eg J9IRaIg G2 & J9!
D) @0 90 @8el 918 deeyg 26360e g5 faide
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29) Decreasing poverty, decreasing child mortality rate,
encouraging gender equality and increasing
environmental concern', are the positive effects of
Education according to which of the following
organizations?

A) UNESCO
B) WHO

C) WTO

D) UNICEF

29) QI09el @FiQl, §g JgY IR AR, ENER ARG § 69IAILR
Q0Q1 B AT @ T2 RFQ ABYIF FIAYS AU Q 69Q A°F0R
296 91 @ ARIAICIR QU 26T

A) UNESCO

)
) WHO
)
)

o

C) WTO
D) UNICEF

30) After a formal teachers' training course like B.Ed, the
teacher can teach the following classes

A) up to Class 10
B) up to Class 5
C) up to Class 1
D) up to Class 12

30) §.4Q OF 2IgIRe FI@ 9IS 609 U6 964 I8 6AQ
69411 A48 VIFIQ KRAIAS ?

A) ¢ ogl 6§41 Ay
B) 8¢1 65411 9y
C) eq 6gén adie
D) ¢ 94 6g¢1 agiie

Join Us-' > f
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31) '6QQ5 ' Q IR Ia ARG @Q |

36) 690 G6a8Y gFQ 694 QI A QGgd , lRIg @ Feasy

QAN ?

A) 63eR

B) coaq A) 8 Qe

C) eaea B) qae1a

D) caie C) aeaigay
D) 28 Qlow

32)' 80 89’ - Q9 990 69Q gRIa gl 99 ?

37) FORYE FIQ 609 6AIP 99 J90R ARG G6T ?
A) qaigige
B) youae A) da-2ga
C) aigde @ Fade B) ary-gea
D) §g3 C) ane-zaae
D) age-Qge

33) FANYE FRIQ 69GIF 'ARE'A AFIRIER 89 g6L? 38) ‘ROIBRRT G9G QUIRAES 694 FUI6R CI0G 62IRE ?

A) g8l A) qae
B) i@ B) aaad
C) saiel C) ad
D) G°g D) oae
~ R 39) 25 @@Iael 3¢ 9QINIEa 6TR 627 | B QIRIER 6R6E
34) 2101 90 ' 2AYEAUR' A BF2 9 Q¢ 689 ? Seasaa F6886 A0 599 99 |
A) syca A) a1l
B) 2aiGa B) gelaal
C) ¢iga C) eorm)
D) zRaR D) 2@
40) G910 §9 — 90I6Q 67Q FRBA 0% QTR 62I9F ?
35) 2A¢D 99 Q2@ @9 |
A) 46 R
B) o5 B) ogal
e C) agan
) D) agen
D) gall

Join Us-
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41) ‘94 AgAT’ QRSR 2d ¥4l ?

A) 26 98

B) aiyel

C) erical

D) Qaia Sgaic

-~

42) ‘6QIRIGSI — NOIER 69R T0B TF QIALIR FAULIRE ?

A) o
B) goml
C) @o1al
D) gaieu

43) GIRYE IR 6266 ‘YIY 99 ATYINIS! 697

A) Sdlier
B) cag
C) qurg
D) g

44) ‘A8 QY- QLT 2 @4 ?

A) 2IRIER IR
B) aideie gn
C) 2@ g4l
D) 2aae @2l

45) GIRNYS FRIQ 629G 621! IR AAIAIIST IR QL8 ?

A) QIae-02q
B) Qidy-Qle@
C) eet-gae
D) ¢ge-0ae
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Section 6 - Paperll-Mathematics
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46) Jack paid Rs 3,50,000 for his new car. This was 7/8th
of the suggested selling price of the car. What was the
original selling price of the car?

A) Rs. 3,50,000
B) Rs. 4,00,000
C) Rs. 4,50,000
D) Rs. 3,00,000

46) R4 919 G2 IR AR & 3,50,000 630 AGR | 121 6208
QA0 gAFe G§ i 7/8 2°4¢ | @100 QI9Fe 8F N 69657

A) ¢.3,50,000
B) . 4,00,000
C)g. 4,550,000
D) ¢.3,00,000

47) A square garden with a side length of 150 m has a
square swimming pool in the very center with a side length

of 25 m. The area of the land excluding the pool in the
garden is

A) 21875 m2
B) 22500 m?
C) 22550 m?
D) 21750 m?

47) 150560 636y 398 9@ 99IRIa F0Ia O] FrIRIGEa @
QGIRIQ 9afi° gm 028 QIR 691TN AIda 659 25 fca | gag
QIQ 69 AYINR CIGTR 6208

A) 21875 4 fica
B) 22500 q¢l figq
C) 22550 @4 fea
D) 21750 Q4 fig@

48) The product of (x + 5)(x— 3) equal to

A) X2+2x-9
B) x*+2x-15
C) x*+8x-15
D) x*+6x-9

48) (x + 5)(x - 3) Q QAT 6207

A) x+2x-9
B) x-+2x-15
C) x-+8x-15
D) x+6x-9

49) If a student multiplied a number by 3/5 instead of 5/3,
what is the percentage of error in his calculation?

A) 64%

B) 48%

C) 68%

D) 24%

49) 98 966l 818 6615~ QBIg 3/5 QLREA 5/36Q GEIS K69,
6969 0I'a FEIRIER GTQ YGES 6R667?

A) 64%
B) 48%
C) 68%
D) 24%

50) The highest common factor of 72 and 168 is

A) 6
B) 4
C) 24
D) 12

50) 72 99° 168Q Q6SIP ARIIQE FENINR 6208

A6
B) 4
C) 24
D) 12
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51) Salaries of Ramesh and Sharan are in the ratio 3 : 5.
If the salary of each is increased by Rs. 5100, the new

ratio becomes 30 : 49. What is the new salary (in Rs.) of
Ramesh?

A) 56000

B) 4,08,000
C) 1,02,000
D) 2,04,000

51) Q6eld 4Q° dore @Qdllq 219dle 3 : 5 | 29 auge Gagl

Rs. 5100 & Q1M 6869 o0 2gae 30: 621RAIN | a6Adw 49
) 968 QFIRS6R6S (68 2

A) 56000

B) 4,08,000
C) 1,02,000
D) 2,04,000

52) If A={1,2,3,6,8,10} and B = {4,5,9,12}, then ANB is

A) {1,2,36,8,10}
B) {1,2,6}

C)@

D) {1,2,4,6,9,12}

52) 9@ A ={1,2,3,68,10} 8 B = {45,9,12}, 6669 ANB 6208

A) {1,2,36,8,10}
B) {1,2,6}

C)e

D) {1,246912}

53) Two sides of a triangle are 7 cm and 13 cm

repectively. If the perimeter is 27cm, then the third side is
equal to

A) 8cm
B) 10 cm
C)7cm
D) 9cm

WtsApp/Call- 8596976190

53) 92 59% Q QRG QIg 97168 7 6QF @ 13 647 2601 U& AR
276461 26T, 6969 §O1A QIZ QLR QAR 26T

A) 8 ead
B) 10 6
C) 7 ead
D) 9 6adi

54) A 20 litres of milk contains 20% of water. Extra water
is added to it to make it to 50% milk. The quantity of milk
has to be added further to bring it back to 20% of water is

A) 60 litres
B) 48 litres
C) 50 litres
D) 20 litres

54) 6315 20 GgQ QE6R 20% I8 281 g A8e1é 50% Qfa!
QIR Y@ A8 98 aalERIl 1gea AIdia adiak 20%9 98
cTaIR 289 AR Gdl 9Iq 291 U9 AdFIE 6208

A) 60 fieR
B) 48 @ca
C) 50 &g
D) 20 fea

55) Three boys A, B and C start at the same time in the
same direction to run around a circular stadium, starting
from the same point. A completes a round in 126 seconds,
B in 154 seconds and C in 99 seconds. After what time
will they again meet at the starting point?

A) 46 minutes

B) 23 minutes and 6 seconds
C) 42 minutes and 36 seconds
D) 26 minutes and 6 seconds
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55) Ga9d Qe A B ¥e° C QIR A6, AAIe Ge6a 9e°
RS AR UL 6IMIFIQ LIFLC] DIRAIHER 61 2R F6M |
A 126 64694660 , B 154 64604660 99° C 99 6960469 64115

6201 Qe 993 | 6965 AN A6Q 62FIEE YEiER IR KRS
INEQ 696 62697

A) 46 85

B) 23 fi8q 99° 6 sg6ae
C) 42 683 99° 36 63694
D) 26 {89 99° 6 626a4

56)

P Q
In the given figure, O is the centre of the circle. PQ is a

tangent. PQ = 55 cm and OQ = 73 cm. The length of OP
is

A) 45 cm
B) 48 cm
C)44 cm
D) 50 cm

56)

P a
Q2R Fg6Q , O 9@ 69 26| PQ 1@ SUI6Eq 2651 PQ

= 55 6af B 0OQ = 73 6Qd. 636 OP @ @9
266

A) 45 69f
B) 48 sfi
C) 44 6@
D) 50 64

57)

If (V768 — 2V48 —75)x = V27, thenx =

58) If the area of an equilateral triangle is 27.712 sg. cm,
then the length of each side is

58) O @ AAQIY TREA CAGTR 6298 27.712 94 6971, 636
4219 g66YR QIga 636 6208

A) 5 6ad

)

B) 6 eafi

C) 8 ead
)

D) 7 caf

59) Profit of two persons are P and Q respectively in a
business such that the sum of 5% of P and 4% of Q is two-

third of the sum of 6% of P and 8% of Q. Then the ratio P
Q=

O o>

=)
N B w =

)
)
)
)

- W AN
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59) Q@4 QY8 P 9Q° Qe 605N QIQUIAER NV TS
G 69 P 28 5 9596 9e° Q 28Q ¥ 9590 P 212q 6 95919
e Q 28 8 gE9I0Q ANTQ QR-GANAIE | OI6e6R P:Q=

b

QO W
NA W

O

)
)
)
)

I—‘CAJ-I-E-I\J

60) If A and B are two sets, then (AUB) ' is

A) AN B
B) A'NB'
C)A'UB
D)A'NB

60) 9@ A 8 B 62983 Q@6 697, 6069 (AUB) ' 6268
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61) The process of transformation of water vapour into
water is called

A) Evaporation
B) Condensation
C) Saturation

D) Transpiration

61) 699 TCI6R FRASIT FRAQER AGEIS 24, 01 98 QRIFIN
?

A) QIR1RQ8
B) agaad
C) a°gg@ad
D) aiqeaiaq

62) Which of the following tribes were known as Huns?

A) Thodas

B) Sugahi

C) Ghond

D) Nomad Mongol

62) P69 FUQ 699 FARITAIER 26 AR TGS 26m?

A) salg!
B) gui@
C) saia
D) aia1ea a6erimR

63) Which of the following is used to study the movement
of plates in the Earth's crust?

A) Plate Ophiolites

B) Plate Tectonics

C) Mantle Plate

D) Asthenosphere Plate

lechofworld . In

63) G618 AR 6995 AR K07 2°96Q 6JLYEAR 970
gUGe G168 QYege 997

A) 69 6TBRAG
B) 6qq scsqide
C) quicam 699

D) 2169691299 699

64) Which of the following subject studies the history,
culture and folklore of the Indian sub-continent?

A) Greekology
B) Latinology
C) Indology
D) European

64) AYAYE FUQ 61 FUG VIRGIY AU FLITIY A RGUQ,
QG 6 ERNRA FER 2UNG @GAN?

A) gleRIeRIR

)
B) quGeqcmian
C) qesiemiat

)

D) geaidaiq

65) In which year, did the first meeting of the Constituent
Assembly of India take place?

65) 699 QE6Q QUELR AANGES AR gaF 6E0R 2RTe
62IRYRI?

A) 1947
B) 1946
)
)

C
D

1945
1944
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L1I=JUIC~LUV1Y DALy L/ L LU wdla
66) According to the National Forest Policy 1952, what 68) FANYS F12IQ 600 U6Q RARIE AAXIFE 9 ¥eF A°EERIG
percentage of total geographical land of India should be aa
IFIQEIRI?

covered by forests?
A) 23% A) 1993
B) 33% B) 1992
C)25%

c
D) 35% ) 1991

D) 1990

66) 1952 39l @18 Y IRd QU WAGA EREE

918 6RI6TIRR GF 2Rl TRl 2IRIG0 6871 QaRIQ? 69) If the time of a place 'A' at the prime meridian is 6:00

PM, what will be the time of a place 'B' 30° west of the

prime meridian?
A) 23%
B) 33% A) 5:00 PM
B) 7:00 PM
G 0
= C) 8:00 PM
D) 35% D) 4:00 PM

67) Vande Mataram, was sung first time at the session of

. . . 69) 98 QIF FYINY 696 AUEA ‘AR ATB AR 6 ¢ 9,
the Indian National Congress heldin _ 6669 30° Q8A6Q J9I 2! AT6R 2SI AN 99 S 'H'Q AN
A) 1896 6R6R 69R7
B) 1886
C) 1919 A) 29Q1g 5 S
D) 1920 B) aig 7 1

Clagsea

67) Q60 FI6Q9| 2iF1 8 din ARG1E FID1R G°6FIR RICITER D) ziaqig 4 1

e QVULRYR & JCIER adel ea agde

621D | ‘ . o .

70) Which among the following countries is considered to
have a Rigid Constitution?

A) 1896
B) 1886 A) South Africa

B) India
C
) 1919 C) United Kingdom
D) 1920

D) United States of America

68) 74th Constitutional Amendment in Indian Constitution

70) G611 F1UIQ 604 6990 Y@ RE0IQ AAIIG AFE?
was made in which of the following year?
A) 1993 A) oJg a1ge!
B) 1992 B) aiae
C) 1991 C) geaisy
D) 1990

Techofworld.In e
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71) Who among the following is the Chief Spokesman of
the State government in India?

A) Chief Minister
B) Speaker

C) Chairman

D) Governor

71) SORGE AUIQ T4 AIFY AARIR Q 1Y gaBI AST?

A) gy aat

B) geel

C) zlag
)

D) quguaim

72) Which of the following movements was started as the
result of British decision to partition Bengal?

A) Kheda Movement

B) Non-cooperation Movement
C) Dandi March
D) Swadeshi Movement

72) Q& SRIFE GY6e AN FRR6 JAEIN QuER FeTlD
ARG 699 AICRIFE AR CTIRYMI?

A) 6919l 2leRIee
B) a1ag6aial 2leaine
C) @é 2@aie

D) gea41 2I6Qing

73) Which of the following options is the largest nonpolar
desert in the world?

A) Gobidesert
B) Sahara desert
)
)

73) GIRge AuQ 6066 §FaIR A01Q A9 67 6AINIA ARRA
2607

A) 6qlie1 Ag@d
B) aizial aged
C) aq aged

D) aeRicl Ag@d

74) Which of the following lines is also called a 'Great
Circle'?

A) Tropic of Cancer
B) Equator

C) Meridian

D) Polar Circle

74) AARYE FIQ 674 6091 "9LQ 91" 1A ?

A) gaegqid
B) Gge eagi
C) qrie 6adl
D) erge@

75) The Buxa Tiger Reserve located at the north-eastern

edge of West Bengal bordering Bhutan and Assam was
once famous for

A) Gold mining
B) Iron ore mining
C) Dolomite mining
D) Coal mining

75) 986 9FQ 98R 9< T96 491 , GIIR G 2UIIF A1EN HITER
Q1 971 Mg BB , 9D Q¢ AR 9B M ?

A
C) Thar desert ) gQI See )
D) Atacama desert B) Q21 AR S
C) eeleminieg &&
D —_
TarhnfinAriAd In ) 6araq! 8
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76) Which of the following options are CORRECT
regarding the usage of baking soda?

A
B
c
D

It is used for making soaps and detergents
It is used as an antacid

It is used for removing permanent hardness of water
It is used as a cleansing agent

— e e e

76) 6936 6QIPIQ YILIQ AAF6R FAFIQ 699 FaTT 0R7?

A) Qige 6 Geere Sa1R6a YT IR FRIAN

B) el 9o 219136 QI96a QTR RGN

C) 92I1g 97a I FE0INGI 2TIAS! Tisl USLIQ FRII
D) w2l 9@ QT 9591 654 QIR QISTIR AU

77) The leaves of which of the following plants close or
fold when someone touches them?

A) Mimosa Pudica plant
B) Water Lily plant
C) Spinach plant

D) Switchgrass plant

77) Gq0uQ 604 989Q 999ET §R 696R 6AGER QR | QIF
62IRAN?
A) QIReRIAl gea
B) ciga @@
)
)

(@]
Q)

QI
D) degia

78) Which among the following options is an example of a
Carnivorous plant that is adapted for living in soils that
does not provide it enough nitrogen?

A) Agaricus plant

B) Dionaea Muscipula plant
C) Victoria Amazonica plant
D) Mimosa Pudica plant

78) GAAUQ 6998 IR FAPAIAN Q89 I8 QLR AIT! 6
JeFIRFIR gaIe 992l C1IT6R QEQISR AQ9R 62IRINE?

A) 2191562 a8e

B) @68 qdgm @8e

C) Qeq)dal 2nicaia a8e
D) feqiial goe a8e

79) What does algae use to collect photosynthetically
active light during the process of photosynthesis?

A) Centriole

B) Ribosomes
C) Mitochondria
D) Chlorophyll a

79) AmeR ZERIF AEYUS ITE ANNEA @8 MLIUR @R
gIcaIe 6q8e AT AICAIR LG RAN |

A) cadzm

B) aiasaicaial
C) aieesiadal
D) sqiequdm g

80) If two bodies stick together after collision and move as
a single body, the collision is said to be

A) perfectly inelastic
B) perfectly elastic
C) inelastic

D) elastic

80) 9@ Qa6 Qg ] 6291 J6Q AITIAIE 9e° I9a 92 QIR6Q
OE QOE 6069 T MRl }'¢ QuIde

A) agd 26 aae
B) g4l arca

C) a8 aas1a

D) aagia
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81) Saccharomyces cerevisiae is a scientific name of
which of the following options?

A) Baker's Yeast
B) Baking Soda

C) Penicillium Mold
D) Cottage Cheese

81) ARlcarpdd 9QEd G¢ ILEYEe Fg LR CTRFS
Qa7

A) 6ead Q&

)
B) sadar 6Qm@!
C) 60Rdfen eame
)

D) @669 66

82) Read the following statements and choose the
CORRECT option.

(i) Mitochondria are called the power house of the cell.

(i) Usually the Red Blood Cells contain thousands of
mitochondria.

A) (i) is FALSE and (ii) is FALSE
B) (i) is TRUE and (ii) is FALSE
C) (i) is TRUE and (ii) is TRUE
D) (i) is FALSE and (ii) is TRUE

82) Gl ABgee 9eg @ A0 9aF 998 993G |
(i) IRETRE2 G 6RNTQ 1D 685 LIAN |

(i) ARIQEIFS ERITR B FERIER 2RI TRIR AIRESIRG2 21 |

A) (i) 6298 g G (i) 6208 g
(i) 6208 OR G (i) 6298 g
(i) 6228 O @ (i) 6298 0@
D) (i) 62a& gm G (i) 6298 O

[echofworld.In

83) A piece of ice (heat capacity = 2100 Jkg™' °C-' and
latent heat = 3.36 x 10° J/kg) of mass m grams is at -5 °C
at atmospheric pressure. It is given 420 J of heat so that
the ice starts melting. Finally when the ice-water mixture
is in equilibrium, it is found that 1 g of ice has melted.
Assuming there is no other heat exchange in the process,
the value of m is

A) 8
B) 10
C)6
D) 4

83) 95QIgR Q196R -5 “6a¥6gR FIT6Q MYIA 9ge G/ IR
QAT ¢i8 Q19 BARI= 2100 Jkg- °6A869Q 99° 99 9Ia = 3.36
x 10 J/kg) Q@8 | 4919 90RIRQl AR 420 J @F 96T
QAT CATCR CEGEER QAT- FR (g8 ARG cawl
6UEEERER 6REITRI 1 FIFl QAT 69RE | F16RRAY YE JTaieR
AR 6@l 91T QLR 62IRRIF, 656@ MA Y 6297

A) 8
B) 10
C)6
D) 4

84) A drunkard walking in a narrow lane takes 8 steps
forward and 6 steps backward, followed by 8 steps
forward and 6 steps backward, and so on. Each step is 1
m and requires 1 s. How long the drunkard takes to fall in
a pit 18 m away from the start?

A) 62 s
B) 78 s
C)28s
D) 126 s

84) @66 €192l 631G ISR AUBIER 8 AIQ AIFY 6721 ATAER 6
dIQ 989 6592w, 98 8 919 2I9g 6 6 JIQ 98] 65gwn 6
6QZA0 QIneRl | 95 QIR 6298 1 M 6 1 s dAg IR | 28R
18 M 996R Q1 I8 AIF6R AEQ AIR OI'g 6866 AL MSS?

A)B2s
B) 78 s
C)28s
D) 126 s
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85) The surface temperature of the sun which has

87) Read the following statements and choose the
maximum energy emission at 500 nm is 6000 K. The CORRECT option.
temperature of star which has maximum energy emission (i) Regions of chromatin which are loosely packed during
at 400 nm will be cell division are known as heterochromatin.
A) 4500 K (i) Heterochromatin contains active genes.
B) 8500 K
C) 6500 K A) (i) is TRUE and (ii) is TRUE
D) 7500 K B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
) o ) D) (i) is FALSE and (ii) is FALSE
85) 500 NM6Q AR §i Q@R Q1 L Y] SIdeIgI 6000
K1 400 nmea A9R)Q 43 3204 291 SI0RIR S99 6208
87) 3¢ Aagee deg 8 a0k G907 098 @999 |
A) 4500 K (i) 6919 GRIRE AAYER 2IRRI V6L 91T 6RINYQ! 6]IATR
B) 8500 K EREGGR 6REERUCTIFITE QLI |
©) 6500 K (il) 62656REFIANTAER AGE G6 QRN |
D) 7500 K

A) (i) 6208 0 @ (i) 6268 Oa
86) Which of the following reactions is an example of B) (i) 62@& 0% @ (i) 6208 an
reversible reaction? : = . —
C) (i) 6268 @ @ (i) 6208 Ox
A) Reaction between silver nitrate and sodium chloride D) (i) 62e@ @@ G (i) 6298 ga
B) Reaction between sodium chloride and sulphuric acid
C) Reaction between red-hot iron and steam

D) Reaction between sodium hydroxide and hydrochloric

_ 88) The latent heat of vaporisation of a substance is
acid always

)
)

A) equal to its latent heat of sublimation

B) greater than its latent heat of fusion

C) less than its latent heat of fusion

D) greater than its latent heat of sublimation

86) AOrUQ 696 90TAI 6268 9@ 9096 9FFAI?

A) dRE9 FIRELS 68 6AGLT 6FRAURR F12I6Q YOG
B) 6QiGoe 6qaiae 8 ARgIae 2iF fuea geeal
C) @ag 92l 6 Q19 Ausa gogal

88) @ JQida QNIRREa 99 GId 49 ANA6a
D) 621696 9106819100 8 TIRERIERIR ¢ F1dsa 9oqal

A) F6ERIGR 9T 91T AL AAIR
B) w2ie gede g8 oK OIg 2ye

TeChOfWO rld . I n C) ¥2Ie 946 98 O 018 @6

D) Geaiea 9 ¢1a 0IR 2y
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89) Consider an ambulance van moving along a straight
horizontal road with a speed of 72 km/h. If the coefficient
of static friction between road and tyres is 0.5, the shortest
distance in which the ambulance van can be stopped is (
Given, g =10 m/s?)

A) 72 m
B) 40 m
C)30m
D) 20 m

89) 4@ 2IRIQ MY Y@ ARY AAIBAR QULIER 72 @.8./94
69068 90 R8I UG QY 9e° TR AUER FQ ATIQ JAIF
0.5, 6069 2IGRIF VIR ASH AIRRIR AT Yol 6268 (99, g
=10 m/s?)

A) 72 m
B) 40 m
C)30m
D) 20 m

90) Which of the following pairs does NOT form a
symbiotic association?

A) Rhizobium - Alfalfa

B) Azotobacter- Mycorrhiza
C) Frankia - Alnus

D) Anabaena - Azolla

90) SCIAIQ 699 60IR1 IR ALRIFT AW G0 FEQ FIT?

A) QIRERIFLS - AINTIAC

B) 2I6010QIQ0-A1R6R10e

)
)

C) gca-aneg
)

=)

2SR - 26T
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Question Paper No: 53677 112
Answer Key
1. D 31.A 61.B
2. B 321 62.1D
3. A 33.C 63.B
4. C 34.D 64.C
3 € 35D 65.B
6. D 36. A 66.B
7. B 37.B 67. A
8. B 38.C 68.B
9. D 39.D 69.D
10. A 40. A 70.D
11.D 41.A 71. A
12. A 42.D 72.D
13.€C 43. B 73.B
14. A 44.D 74.B
15:€ 45 B 75.C
16.B 46.B 76.B
17.B 47. A 77. A
18. D 48.B 78.B
19.B 49. A 79.D
20. D 50.C 80. A
218 815 8l..A
22.C 52.C B4R
23.B 53.C 83.A
24. A 54.B 84.B
25.€ 55.D 88D
26. B 56.B 86.C
2. B 578 82D
28 58.C 88.B
29. D e2,C 89.B
30. A 60. B 90. B
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